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Hate 293 17,594 17,594 0
201 L2 Y| 17,59 17,594 0
01 At 22l 16,320 16,320 0
Olget=gHl] 14,520
o#gHoZ Y 25,2002 * 10094 2,520
OMHE otECIAZ & HZ22l 78
3,000,000& = 4CH 12,000
OlfIgtn=Hl] 1,800
O&4t & W=Hl  450,0008 * 421 x 13| 1,800
02 =244 1,274 1,274 0
O[AIEEEIRXIH] 1,274
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ANz HEZEAAE SFFH WA 66,750 66,750 0
= 21,312
s 45,438
201 Lut2 Y] 66,750 66,750 0
= 21,312
= 45,438
01 AR 2t eldl 66,750 66,750 0
ONRT BEESAAY c2H DA
66,750,000& * 14 66,750
= 21,312
= 45,438
ANZT Mol S 2AAYE 2= 6,000 0 6,000
= 1,500
i 4,500
201 Et2dd| 6,000 0 6,000
= 1,500
= 4,500
01 AL 22l bl 6,000 0 6,000
ONZT HHZPAAE DEAY
6,000,000 * 14! 6,000
= 1,500
i 4,500
e 38 23 117,932 115,504 2,428
= 15,840
= 21,612
i 80,480
dE302 E2Jd A NsH 64,128 47,520 16,608
= 15,840
= 19,512
= 28,776
307 QI2H0I & 64,128 47,520 16,608
2 15,840
= 19,512
2 28,776
02 RIFANSBE 64,128 47,520 16,608
OZ2IRX S XA (4HE)
64,128,000& » 14 64,128
= 15,840
= 19,512
= 28,776
SHOIXl 2el 33,354 33,354 0
201 Et2dd| 33,354 33,354 0
02 2244 33,354 33,354 0
OSHOIX &4golIs 0l82 55,0008 * 12& 660
OZHOIX Zole o2z 297,000& = 22/ 594
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OFZSIOISEEHA (U 2
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301 etE a3 3,800 3,800 0
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ONEA & Tz )daekt s &4
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O2Z/& H&X #x0t2 60,0008 * 30¢! 1,800
CE-AMZ2 SENAM AIAE 2= 4,620 0 4,620
= 2,100
= 2,520
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202 O4H| 10,800 10,800
01 SLHAbI 10,800 10,800
FNEE B 20,000& * 401 = 135 10,800
SNEEII=3| 13,980 13,980
201 L2 7,560 7,560
01 AtR2tel 7,560 7,560
olger=gtl] 3,780
ORAN=2E SUAA 3,780,000& * 14 3,780
Ol=&tl] 3,780
OEME2E SHAY 7,0008 » 621 » 90 3,780
202 O4H| 6,420 6,420
01 2 LHAOHI 6,420 6,420
ORNZ2E & 20,000& * 3¢ = 107 6,420
datggll=3l 16,970 16,970
201 fet24Ed| 9,290 9,290
01 AR 2telH] 9,290 9,290
olget=gt 4,649
ORN=2Z 4,649,000& * 14 4,649
Ol=&tl] 4,641
ORN2Z 7,000& = 3¢ « 221 4,641
202 044l 7,680 7,680
01 2 LHAObI 7,680 7,680
EA2E BQ 20,000& = 321 » 128¥ 7,680




